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Q=0 B & 3549 AHof| o5}

2a=20, a*+2b=140, 2ab=1400, b*=384+k

et ¢=10, b=200]2

k=16

13
W =X,y =Y= =oH
=102 +9y' = X*—10XY +9Y*
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o] tfgtalo] x, yoll gt = AAFAS] Ho g OL—/FE’—OHE]E%D#
—(y—3)—2(2y+1)=—5y+k o
—5y+1=—5y+*k

k=1

2| 47t —52 ZoKl= 425
=

16
rty—z=1°A z=x+y—1
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=3(y+z) {2+ (y+z)x+yz}
=3(z+y)(y+z)(z+zx)
23(xt+y)(y+z)(z+x)
‘e =0

flz,y, 2)=(x+y+z)*—z*—y*—2*0le} 5l¥

fz, y, 2)+= diA4]e]aL o] 9] y gl — 25 st

Az, —z, 2)=(x—x+2)—2*— (—x)*—2°
==+t —z=0
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B —19

10

' =142+ 18 A4EajshH

=14 +1=(2*+22°+1)—162°
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